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No calculators are allowed on this test. Choice E, “NOTA”, denotes “None Of The Above”. Good luck, and most importantly, have fun! (
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4.  How many asymptotes does 
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5.  In 
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6.  What is the area of the region bounded by 
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7.  Let 
[image: image37.wmf](

)

32

2431

fxxxx

=-+-

. Find the sum of the reciprocals of the roots of 
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8.  Which of the following is a one-to-one function?  
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9.  How many petals does the rose 
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10.  Let 
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11.  Let 
[image: image58.wmf]i

p

denote the number of i-digit palindromes. Determine the value of 
[image: image59.wmf]6

2

n

n

p

=

å

. For clarification, 
[image: image60.wmf]i

p

for 
[image: image61.wmf]2

i

=

will give the size of the set that includes 
[image: image62.wmf]33

, and for 
[image: image63.wmf]3

i

=

will give the size of the set that includes 444. 
A.  
[image: image64.wmf]1989

                 B.  
[image: image65.wmf]1999

                  C.  
[image: image66.wmf]2012

                 D.  
[image: image67.wmf]2209

                    E.  NOTA

12.  In how many zeros does 
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13.  Suppose 
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14.  Determine the value of 
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15.  Find the sum of the real solutions to the equation 
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16.  Consider a circle with the equation 
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17.  Find the remainder when 
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18.  Compute the area of the region enclosed by 
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19.  Evaluate 
[image: image112.wmf](

)

0

sin

3

n

n

n

¥

=

å

.
A.  
[image: image113.wmf]3

2

                     B.  
[image: image114.wmf]0

                         C.  
[image: image115.wmf](

)

(

)

9cos1

106cos1

-

-

    D.  
[image: image116.wmf](

)

(

)

9sin1

106cos1

-

        E.  NOTA

20.  If 
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21.  What is the eccentricity of the ellipse 
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22.  If 
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23.  Determine the polar form of the equation of the perpendicular bisector of the segment connecting the points 
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24.  Find the constant term in the expansion of 
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25.  Find the period of the graph of 
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26.  Determine the shortest distance between the lines 
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27.  Find the area of the region defined by the parametric equations 
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28.  What is the domain over the reals of 
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29.  Evaluate 
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          E.  NOTA
30.  Goku and Vegeta agree to meet up for lunch at some time between 12:00 PM and 2:00 PM tomorrow. Goku will wait 20 minutes for Vegeta, then leave. Vegeta is not so patient, and will only wait for 5 minutes. What is the probability that Goku and Vegeta have lunch? 
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